
Rsa I 

--G T | A C--		  --G T	 A C--	

--C A | T G--		  --C A	 T G--	

Sty I  (W = A or T)

--C | C W W G G--		  --C	 C W W G G--

--G G W W C | C--		  --G G W W C	   C--

(i) Rsa I

G C T A A A T C T C G G A G A G T T G A 
A G T A C G C A C T C G A T T T A G A G 
C C T C T C A A C T T C A T G C G T G A
Number of fragments created = 		 Fragment lengths (number of bases) = 

(ii) Sty I

G T T G A A G T A C G C C A T G G T A A 
A T C T C G G A G A C A A C T T C A T G 
C G G T A C C A T T T A G A G C C T C T
Number of fragments created = 		 Fragment lengths = 

(iii) Both Rsa I and Sty I

C G G A G A T G G T A C A A T C G C C T 
T G G T A A A T C T G C C T C T A C C A 
T G T T A G C G G A A C C A T T T A G A 
Number of fragments created = 		 Fragment lengths = 

Restriction enzyme  
worksheet


